Efficiency vs dr

0.2

e
o
=
N
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

DQ MKFI-DQM_origin
| —e— /dataz/leglann|/standa|6ne May24/CMSSW 13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated
Fit-DQM_original_newwindows

-
l : o
T

—_— D M“I'T_mkFlt D M —up ate mod127

T

1072

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.02
0.018F
E F
Q.OlG_—
9.014F
P o
9.012F
2

o -
£ 0.01
3] o
0.008|
0.006F
0.004F
0.002F
e

Ratio

[y
TTTT] T

0.95 . S . SR
107 1072 107
AR(TP, jet)

Efficiency vs pu

—0.05
o
9.045(
30.04F-
(]
"0.035F
=
©0.03F
0.025F
0.02F
0.015F
0.01
0.005f -5+
Qe b

Ratio

O[T T[T




	Contents
	Page 1


